
An electromagnetic plane wave propagates to the right.  

Four vertical antennas are labeled 1-4.  

1,2, and 3 lie in the x-y plane.  

1,2, and 4 have the same x-coordinate, but antenna 4 is located 

further out in the z-direction.

Rank the time-averaged signals received by each antenna.  

A)1=2=3>4      B)  3>2>1=4      C) 1=2=4>3

D) 1=2=3=4     E)  3>1=2=4
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The electric field for a plane wave is given by:

A) The x (�̂) direction.

B) The radial (��) direction

C) A direction perpendicular to both � and �

D) The � direction 

E)  The �� direction

Suppose E
0

points in the +x direction. 

In which direction is this wave moving?
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If I have an E-field expressible as such:

A) 	
�
�(�����)��

B) -	
�
�(�����)��

C)  -	
�
�(�����)�̂

D) -	
�
�(�����)�̂

E) 	
�
�(�����)�̂

How should I write the associated B-field?
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Here is a snapshot in time of a longitudinal wave:

The divergence of this field is:

A) Zero

B) Non-zero

C) Can’t tell



Electromagnetic fields in vacuum with divergence are:

A) Allowed

B) Not allowed



Electromagnetic fields in vacuum that have a 

longitudinal component are:

A) Allowed

B) Not allowed








